Name: 5-a-qay Numeracy
6th July *
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A cake has a mass of 600g. o

30% of the cake is sugar. 10% - 60g
0)

How many grams of sugar are in 30% - 180g

the cake?
180¢g

22 18 26 23 29 36

Write down three numbers from the
list that add up to 70

4132+ 4 9= 7o

Complete each sentence by writing
in the most suitable metric unit.

The height of a door is
approximately

.................................

On Sunday a shop had 300 packets
of biscuits in stock.

The shop sold 57 packets of
biscuits on Monday, 93 packets on
Tuesday and 89 packets on
Wednesday.

How many packets of biscuits are

left?

200
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